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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) Tl gEwgd 4 WY 9F R IS sEarEa: fod)

Candidate must write first his / her Roll No. on the question paper

compulsorily.
)y gt uva FE AtaEd 2
All the questions are compulsory.

2 mmwmﬂném—gﬁimﬁﬁﬁl _E

3)

Write the answer 10 each question In the given answer-book only. 47

5
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4y FmwmAld TR @ue §, 37 @l & I & g @ ford

For questions having more than one part, the answers to those parts are 1o
be written together in continuity.

5) o TR ¥ et @ aieh wamor # Rt wen B gfe / s/ Frdamam @ @ 7= e
* U997 ! § A ")

If there is any error / difference / contradiction in the Hindi & Englist
versions of the question paper, the question of the Hindi version should be
treated valid.
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1) agfamm:(iﬁ XViii)
fre T & I H W Raden v am am-gftrn Rt

Multiple Choice Questions : (i to xviii)

Answer the following questions by selecting the correct option and write them In
the answer sheet.

) "Rl REEE v AR s S e-eR m R fem I E - (1]

H) G FOE A g) HHA A9 A
§) ST I A 3) (@)@ (@)
In the absence of partnership deed the profit and loss is divided amongst the
partners in -
A) Capital Ratio B) Equal Ratio
C) Unequal Ratio D) Both (B) and (C)
i) ETSEH TN WEEN % R ... AT e & - 1]
H) Tofea a) dfRas
b)) T 7) THARETE
Partnership deed is the agreement between the partners in -
A) Written B) Oral
C) Implied D) None of these
iii) R AFI FHe A {ewn A g2 (1]
) WEER & TGy W@ a) weer Hi fafa m
¥) WIER @t g W ?) Iulem wt
When sacrifice ratio is calculated?
A) Admission of a partner B) Retirement of a partner
C) Death ofa partner D) All of the above
S$S-30-Accountancy
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) fmrh:numminmmnmﬁuzﬁuﬁﬁaqmﬁgqfa;mﬂhmm““,
a)  Am-pfa Baras o o 7) m_qu
")  9AYEgieRs ™A U 2) g

At the time of admission of a new partner increase/decrease in the value «
asscts and liabilities will be written in the -

A) - Profit & Ioss Appropriation Alc B)  Profit & Loss Alc
C) Revaluation Alc [D)) Realisation A/c

v) ﬁmmmﬁﬁmmmﬁﬁuﬁfnﬁ- [
© H) Owy @ Em ) A e Ay
e T A TFETAH
) VS T ) 0 wEER @ e g A
0 WBER & 4w | R A

Entry for amount to goodwill bring in cash by a new partner is -
A) Cash A/e Dr. B) Goodwill A/c Dr.

To Goodwill A/c To Cash A/c
C) Cash A/c Dr. D) New Partners Capital A/c Dr.
To New Partners Capital Afc To Goodwill A/c

Vi) H,AAMEEH F2:2 ] 7 ATeA g0 HRER §| 3 Harfiga g 2 au1 TEH T T =
WG 3 : 2% e 4 & foran wmen 31 7 srqum s SR il
H) 16:9 a) 9:6
|) 4:3 23) 1:1
A, B and C are partners sharing profits in the ratioof 2 : 2 : 1. A retires and k:
share is taken by B and C in the ratio of 3 : 2. Find out new ratio -
A) 16:9 B) 9:6
C) 4:3 D)y 1:1

vil) fordh amgEn & ST WUl W o Frgd A Iueten FHiaafa st = faao aen
fra arama A e smam 2 1
M) A UE A ) HOA A9 A
A) WER % I H 3)  QUA I 3
On retirement of a partner the undistributed profits available in the balance
sheet of firm is distributed among the partners in the ratio of -
A) Innewratio B) Inequalratio
C) In Gainingratio D) Inoldratio

SS-30-Accountancy 71024

]

(3 scanned with OKEN Scanner



, A Im A s s ) v =y fraTA HAAA @
%) WAy 2) 3 @ o

In the absence of any information regarding the acquisition of share in profit

of the retiring/deceased partner by the remaining partners, it is assumed that
they will acquire his/her share -

A) Old profit sharing ratio B) New profit sharing ratio
C) Equal Ratio D) None of these
ix) PefEferidaed & @aoen i - (1]
#A) wwzA Fm frae a)  Afamd faaza
]) =g zm faaz 2)  IunEa gl

Which of the following is type of dissolution of a firm?

A) Dissolution by agreement B) Compulsory dissolution
C) Dissolution by the Court D) All of the above

x) ®REEAmRwfE o oo s v s @ R aEm - (1]

#A) “m I) W
a) (#A)a(a)z= 2) IqiEd § 9 @IS J7
If a partner took asset on the dissolution of a firm, partner’s capital account
will be -
A) Debit B) Credit
C) (A)and (B) both D) None of these
Xi) A & CATH FA-H AU FZATA 27 [1]
#) \GA ATTH q)  UATUFRE AT
q) HIGAUTA 2) TWEA 4 | w3 JE
Which shareholders are called owner of the company?
A) Equity sharcholder B) Preference shareholder
C) Debenture holder D) None of these
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\i) vaa ffes g Riem | T 6,00,000 § wyfta wa Mﬂmm_ )

¢ 100 uTA T 3w 20% Hiftren o fxd, Rrifa
) 6,000 w) 4,000
®)  7.500 a) 5,000

X Limited purchased a machine of worth ¥ 6,00,
payment it issued cquity share of T 100 each at
Numbers of issued share?

000 froma vendor for it'_s iy
20% premium, what Wilip,

A) 6,000 B) 4,000
C¢) 7,500 D) 5,000
xiii) 3 ot T @ w W FE T A R e {
) TFE EN T g) FwT
|) T | @ z) afm win T
Which account is to be debited on receive of calls In advance?
A) Calls in Arrecar A/c B) BankA/c
C) Shareholder A/c D) Calls in Advance A/c

i =t afRu aik = Re ™ wvAi (393 | xiv | xvii) ¥ IW i :-

frymer Ry & 2 100 @@ 2,000, 9% Sewram 10% shftrm w wrdt #t & e smagny
Fmifam fre) e amdea o T 50 wA wommw M m A (shftrm wfg) T 1,50,000 wma g
Read the following and give answer the following questions (Question number xi
to Xvit) :-

Vishal Limited had invited application for 2,000, 9% debenture of T 100 each iz
premium of 10%. Total application money received at ¥ 50 per debenture (includng

premium) is ¥ 1,50,000.
Xiv) HIWTR =1 TER E - )

)  Af-sfEE q) gHan-AEE

|) E-3fhem ?) wWH-3ER

Type of subscription is -

A) Over-Subscription B) Minimun Subscription
C) Under Subscription D) Equal-Subscription

SS-30-Accountancy 7024
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XV) m*mhﬂ:ﬁﬁmﬂm“mm? U
R) 1,000 wromy
q) 2,000 wurad
8 3000 woran 1) 4,000
How many numbers of applications were received for subscription?
A) - 1000 Debentures 13) 2,000 Debentures
) 3,000 Debentures D) 4,000 Debentures
Xvi) ST T urey g shfam 6 o pnd - (1]
A 25,000 ™) 250,000
®) 230,000 ) 21,50,000
The total amount of premium received on application is -
A) 25,000 13) 50,000
C)  T30,000 1)) T1,50,000
Xvi1) 9% TOTIR TR T HAEA R e vfn A s forn R 7 |11
AR) T 1,50,000 ) T 1,00,000
|]) ¥ 1,20,000 2) ¥ 80,000
How much amount will be credited in 9% debentures account on application?
A) T 1,50,000 B) ?1,00,000
C) %1,20,000 D) 80,000
xviii) A fFmai | Ay s | dafta e § - [1]
H) WA H The R q) @ i T R
w) 3w @ P 3) I H A B T8
ltem which is related to cash inflow from investing activity is -
A) Cash sale of goods B) Cash sale of fixed asset
C) [Issuc of sharcs D) None of these
SS-30-Accountancy m | Turn Over
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2) feawm 9 fifm: (A vi)

Fill in the blanks : (i to Vi)

i) “@mmﬁmﬁﬁﬁ%mm ................ et €1 (TH/3) If
gc})l:i g:;;—;mm number of partners are in partnership busin;.
i) mmammmw%@ma ................ fofan <A 21 (A
J
T e st
W)  WEER ;1;%%: T IR W @I ... W B A (T T;
EARUBER |
z(ﬁ.hfl:';e; ;.hnt;:h ?:it; zﬁ :} l;f:)z:u'tner amount payable to him is received by .
iv) ?:;mm-:ﬁqﬁaz:ﬁjm I S TraTaTE R ?ﬂTﬂr‘ ].5;

At the dissolution of 2

: partnership firm, debi
will be transferred to P ebit balance of profit and loss accoun

B _- (Realisation A/c/Partners Capital A/c)
V) RS e Hhafran | R A aft

G SRR A Tefiea ettrmaa gt ..., Heerrdl g1 (Sfugats
it gsit) | ]

. )
1 th ?axunum capital written in memorandum of association of a compan is
calle |

. (Authorised Capital/Tssued Capital)

............... UG & T8 | W 5= e 3 (Trey/=mE) 1)

[rredeemable debentures are known as debentures. (Current/Perpectuz

SS-30—-Accountancy M
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3)  wfAegIeTE W @ (i A xii)

Very short answer type questions : (j to Xii)

i) W HORE R SR BN 2, 3 m R (1]

How many types of partnership deeds are their, write names.
i) T o™ R sram W w0 W 9w i) (1]
Write formula for finding out new profit sharing ratio.

) TREHH TR S 3 zﬁwﬁm%m#ﬂgmiimmﬁﬁ v, el
%%qﬁmmtﬁsz@mmaaﬁﬂm@mﬁmmmmw
T1a Ffdm) (1]

X and Y are partners in a firm sharing profit in the ratio of 3 : 2. Z is admitted
for ¥4 share Z took his share from X and Y in equal ratio. Find out new ratio.

iv) e W w arftrenw € 2,500 2 aur wmr e 6 g 10% @ @ siftensi & geftamo
faftr & wafd =1 g 7@ fifswg [1]

s

Super profit of a firm is ¥ 2,500 and normal rate of return is 10% then find out
the value of goodwill by capitalisation of super profit method.

2 2 1
v) H,STRTHEHA S:S:S%m@mﬁma‘hﬁ@w@malauﬁﬁmm

& 2, 72 U Fit mEr K| [1]

2 2
A, B and C are partners in a firm sharing profit in the ratio of EE

A
1
B retires from the firm. Calculate new profit ratio.

SS-30-Accountancy 7024 [ Turn Over
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Vi) Qﬁmﬁ%mmmm“mﬁI%famﬁmml

-

: ionofafi
Ve | : olution I,
Give journal entry for sale of not recorded asset O diss

vil) =T win 3 wiake ) i)

Write entry for calls in Arrear.

\iil) SROTTR R 4T A £2 ]
What do you mean by debenture?

i) fret 2w ot & am fafa Il
Write names of any two current liabilities.

) frafafas ga | Qe il = e 719 i - i
e A 2 : 1, Seatae ¥ 5,00,000
Find the value of current Assets from the following information -

. CurrentRatio 2 : 1, Current Liability ¥ 5,00,000

xi)  fafa frarsendl |4 G araleg 6 e 9 we o) 1)
Write any two items of cash inflow from investing activities.

xii) e WA - 3 frad datta g2 1]

W hat does Accounting standard - 3 related 10?

SS=30-Accountancy 7024
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SECTION - B

YIS I @ (7 € 50 yrem)
Short answer type questions : (Word Limit 50 Words)

4) T W H A e wER R ¥ e g ) wem R @) 7 2,000 Fur d wei 1 @

sifam e = ¥ 4,000 = v aamgeer et 31 smeeo 1 2% =ifdfer 21 & 9T S S 2
HTEUT T =1 ) 7o Doy [2]

Hema and Meena are partners in a firm. Hema withdrew % 2,000 at the beginning of
each month whereas, Meena withdrew ¥ 4,000 at the end of each month during the

whole year. Interest on drawin g 1s charged @12% per annum. Calculate interest on
drawing,.

S) u= wH &gt 7 4,00,000 R 9 airew @ T 60,000 Fun wma w@@ = 10% 31 Tt &
TR Adftrel & R awl F e & onum W 7 ke [2]

Capital of the firm is ¥ 4,00,000 and average profit of the firm is ¥ 60,000 and
Normal rate of return is 10%. Goodwill is to be valued at three years purchase of
super profits. Calculate the value of the Goodwill.

6) H, @ faweE 32 1 F U H wd g ATSER 21 T @ gt ® 2 30,000

F Ged T I T B | F Bt g @ aU F & Aatgia & qwa Tt w5 geaied € 42,000
o v | vl Y gl A anavaes wfafteat dif [2]

A, B and C are partners sharing profits in the ratio of 3 : 2 : 1. Goodwill is
appearing in the books at a value of ¥ 30,000. B retires and at the time of B's
retirement, goodwill is valued at ¥ 42,000. Give necessary entries in the books of
the firm.

$S-30-Accountancy 7024 [ Turn Over
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7) ﬁn@mﬁ%mmwmﬁwﬂ“ﬁmwﬂm A

FrEvaE wHw wiiRe S 3T $f @ @ A 2 25,000, T WA G oy
X 60,000, 383 i &t wfa T 13,000 4 @

T
W

Nk

On the basis of the following information calculate the amoun} to bc Paid .
partner and pass necessary journal entries of it. Debit balance of his capita| Ay,
's ¥ 25.000, his share of profit on realisation is T 60,000, asset of the fin, take.
over by him for 7 13,000.

8) mﬁhamﬁﬁwma?
What

IS meant by Unlimited Company?

9) ﬁm%ﬁéﬂso,ao,oooaﬁrqﬁﬁﬁﬁﬁﬂw%@z100a:ﬁmaiaﬁﬁ%trr%a%1m
4 1ooznﬁr30,ooommm%mmmauwmmm#mm
‘6 ﬁm@mmﬁnnﬁﬁwmmglm%mﬁﬁﬁﬁwl 2

Chouhan Limited registered with T 50,00,000 capital it's divided in equity
X 100 each. Company had invited for 30,000 equity shares of subscripliun
@ X 100 each. Applications received for subscription of all shares and all

money received on due date. Show capital in balance sheet of the company.
!

.

share o

call

10) afd ¥ 2,50,000 % 8% wom=i =t 7 12,50033mﬁﬁﬁm%q1mﬂ?hm§i%ﬁwh:ﬁ
/Tt fife vE 7 B @ e i) 12

o’

“ If 8% debentures of worth T 2,50,000 issued at a discount of ¥ 12,500, Giw
Journal entry for issue of debentures and find out the rate of discount.

SS-30-Accountancy 7024

(3 scanned with OKEN Scanner



13

11) Teea fA. 3 ofa s 2100 @ 3,000, 9% worwsi 71 10% dfaan @ Frifer @@ 7
Frergrm e - 2]
FAEEI W 4 50
HEZA T T 60 (ifam ufm)

?&mmﬂmwﬂﬁ?mmgﬂmaWﬁmw
|

Mahadev Ltd. issued 3,000, 9% debentures of ¥ 100 each at 10% Premium.
Debenture payable are as follows :-

On application T 50
On allotment X  60(including premium)

The debentures were fully subscribed and all money was duly received. Give
necessary entries in the books of the company.

12) FofetEs g 8 st I 3AEd 9914 1 9iieheid Shitag - [2]
TaTEs 8 el 3™ T 2,00,000
TR | 992 AT = T=eE | A 3 F: 20%
1.04.2023 =t =i wra 2 20,000
. 31 .03.2024 =1 =i wr=m T 60,000
_\5 Calculate the Trade receivables turnover ratio from the following information :-
Total Revenue from operations < 2.00,000
Cash Revenue from operation = 20% of total Revenue from operations
Trade receivables as at 1.04.2023 T 20,000

Trade receivables as at 31.03.2024 T 60,000

13) Praferfga gaal d ¥ A WAl F91E & Y i T 16 - [2]
&7 HTArAA F 9T vra T 30,000 @2 =w va T 10,000 39 & 2 € 40,000 maﬂm/
fera wraem foman
Find the amount of tax paid by preparing provision for Tax Account from l.he
following information -

Opening balance of provision for tax ¥ 30,000 and closing balance ¥ 10,000,
during the year provision made for tax ¥ 40,000.

S=30-Accountancy \ 702"' | Turn Over

(3 scanned with OKEN Scanner



14
@us - ¥9

SECTION - €

UIAAS W9 : (IW V=2 E worEm 100 vE)

Long answer type questions : (Answer word limit approx : 100 words)

14) 7w s A s gaom i e A S Bﬁﬁﬁ@m%'amaﬁmﬂ %magﬁ
mﬁaméﬁﬁamaﬂxmmwﬁmmlmaﬁm*m“m&m&

UshR 947 : -
| ® Gl ""
| TTRGR | 100,000 | wvied 70,000 |
il S0 kSl _I 60,000 l pien 30,000 |
| “Tmi‘ﬂ'ﬂu _'32,[)00 et | 20,000

SRR | 8,000 | = 9w 80,000 |

| 2,00,000 2,00,000 |
T A R v Bt ot 1

) e e sftemy 7 16,000 & i =t & a0 o TR Tora wm

1it) mﬂi TR U Tt & gfeaie s T 60,000, T 24,000 €@ 216,000 wié
T 8

90 FIANS B H Y et o FrEavas Uiakear S|

Mamta and Monu share the profits of a business in the ratio of 5 - 3. They admit

Rekha into the firm for 4" share in profits which is to be contributed equally &

Mamta and Monu. On the date of admission of Rekha the Balance sheet of i
firm was as follows :-

| B ®) | ) |
Mamta's Capital 1,00,000 Machinery | 70,000 |
Monu's Capital 60,000 Furniture 30,000
thncraI Reserve 32,000 Stock 20,000 |
Creditors 8,000 Bank Balance 80,000
2,00,000 | ‘> 2,00,000
SS—-30—-Accountancy m
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Terms of Rekha's admission were as follows :-

1)  Rekha will bring ¥ 60,000 for her share of capital and goodwill.

i) Goodwill of the firm has been valued at 3 years purchase of the super profit
of T 16,000.

iif) Machinery, furniture and stock are revalued at T 60,000, T 24,000 and X 16,000
respectively.

Give necessary journal entries in the books of the firm.

AuEat/OR
e (R) F g (F) S Ty Fem fifw - [3]
B Tef () wr = o I
) wfaat & gea 3 afg A)ﬂ%ﬁm_ﬂwmua

i) i & g dafe

i) wf Frl wge ETe | g
v) o T @ i e
@ ® TRl

Match the list (A) with list (B) :-
List (A) Transactions List (B) Side of Accounts
i)  Increase in value of Assets A) Credit side of Partners Capital A/c

B) mﬁanﬁa@ﬂmmmut
C) Yraiea @A 1 A 9
D) gq{éﬁaﬂmﬁ_m_mw

ii) Increase in value of Liabilities B) Debit side of Partners Capital Afc

i) Accumulated profits transferred | C) Debit side of Revaluation Alc

into Partners Capital A/c .
|_'w) - Loss on Revaluation A/c D) Credit side of Revaluation A/c

Transferred into Partners

Capital A/c

SS-30-Accountancy 7024 | Turn Over

(¥ scanned with OKEN S

nnnnnn



16 , ;
15) mﬁaﬁﬁwzowﬁﬂmmtmlﬁmﬁmﬂaﬁ %ﬁ@ﬁ%:ﬂ

1}

L S 3 1,00.000
o waw 2 35.000

¥ R s
bk 2 15.000
8% THUTTS

° § 50,000
e ? 40,000
|93

T 1,60,000

Show the followin

iiiiiiiiiiiiiiiiiiiiiiii

81tems in balance sheet according to company Act, 2013 Schedyle I
of Part | .- )
Equity Share Capital ¢ 1,00,000
Capital Reserve § 35,000
Provision for Taxation 4 15,000
8% Debenture 4 50,000
Inventory ¢ 40,000
Building 2 1,60,000

FAAFT/OR

qmﬁumaﬁzﬁwzouﬁag@m%mlﬁmﬁﬂﬂﬁ*wmmm
?ﬂfh?. ferRan .- 3]
g T i 39 v
1) Qe Seeeeennes
N TR s
i) e At

llllllllllllllllllllllll

Act 2013 as per Schedule 111 of Part I --

Items Major Head Sub Head
1)  Short term Investment

i) Longterm Borrowings

i) Loose and Tools

SS-30-Accountancy 7024
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16) ﬁ‘ﬂ'ﬁ}l‘l'l:iﬂﬁ (])mmm(inmm(iii)mmmmmﬂ:*”l

fa T 4,00,000, 39 m wrm & w0 ¥ 2,.40,000. symatis w7 50,000, PR 7@
t 30,000, 3 2 wfa 2 30,000, Rfrdm A amm 7 10 000

Calcul:cnc (1) Gro:f,s Profit ratio (ii) Operating ratio (iii) Net Profit ratio from the
following informations :-

Sales ¥ 4,00,000, Cost of goods sold 2 2,40

| 000, Administrative ¢ 250,000,
Sclling expenses ¥ 30,000, Loss by fire Administrative expenscs

¥ 30,000, Income from investment T 10,000.

ﬁq@aﬁﬁﬁimmmmmﬁmmmzﬁmmﬁm;- [3]
wwan 3 49 (@ T 100 R 3im) 7 8,00,000

8% mura= T 10,00,000

FEE 'R T 2,00,000

W & I7ER {g ¥ T 1,20,000
TR = 40%

Calculate of RE:‘IUTI:I on lnvc?slmcnt and Return on net worth (Shareholder Fund)
from the fOl]DWIHg informations = https://www.rajasthanboard.com

Equity share capital (@ 100 per share) T 8,00,000
8% Debenture  10,00,000

General Reserve ¥ 2,00,000

Net Profit afier Tax ¥ 1,20,000
Rate of Tax = 40%

17) afdm e 3 wafegi w 7 5,000 = 7@ awfa w0t 3 uvam a @ daa 1 2 7,000
g & arg T 43,000 1 e afa fean

3]
A FIA -
) writwes =13 T 4,000 = swafefem foar mm
i) Iurivia 3w | afg € 10,000
T Rmsit A g wa 7w it

Varshita Limited made a profit of ¥ 43,000 after charging depreciation of 2 5,000
on assets and a transfer to general reserve of T 7,000.

Other Informations ;-

i)  The preliminary expenses amortised was ¥ 4,000.
i) Accrued income increased by T 10,000
Ascertain cash flow from operating aclivities.

FerE/OR

5-‘5'-3(}-Atcnuntanc}' 7024
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mmﬁ*mﬂm'mmﬁ"ammﬁmm

2023
hotie -.oo,o(gc); :? %?)40((‘113
wHter e

13)

T 541 2 20,000 .
Calculate the ca¢ flow from "Investing Activities" from the following information, .
Machine 2023)  Ty004xy
Fumiture ?ggnm 3,00,000
: ) ,000 2
? 20‘00 " L,SO-‘OOO
Ointerest FeCeived op Investment during the current year.
Qs -3
SEQTIQN - D
o= uyg (

:3:1 FIIA | - ated §) o % awew § b srawm
R wray an .
¥ 50,000 3 3 2t & e 1 < 80,000 % 3w 2, R & 30,000 7 32 3

iy TEN % & ot e 7 1,20.000 el 4]
P.O ang Rmmﬂwaﬁu&&maﬁmmﬁﬁﬁuﬁwmt

are partners sharing profiys and losses in the ratio of 2 : 3 : 1. At the

_ ft ling hi ,000, out
which ¥ 30,000 being paid by Q nd ¥ by i

year after pP's retirement is 1,20,000.

C.alc.ulat-:e new Profit & [oss sharing ratio ang pass entries for sales of share and
distribution of profit.

UA/OR
qo9, e a et 3 - 0. I % o Ruaem =g

§lmmmm§|ﬂmﬁiaﬁm
Hae foar s 2 mmﬁﬁfaaﬂmmﬁa%ﬁm: ¥ 60,000, T 80,000
TR 60,000 oft| 23 ¥ g 91w 7 40,000 | A=z 9y 7 20

ﬁ'nﬁamarﬁmmﬁawﬁnﬁ(mﬁﬁrqlmmﬁﬁgmﬁrﬁmuﬁﬁﬂﬁﬁw

[4]
Sumesh, Neelam and Gayatri are partners sharing profit in 3 : 2: | ratio. Gayatri

retires and cash is paid to Gayatri. Their adjusted capital on the date of retirement
1s ¥ 60,000, ¥ 80,000 and T 60,000 respectively. Cash balance was ? 40,000 in
balance sheet. Cash balance is to be kept of T 20,000. Calculate the actual cash to

be paid or bought in by remaining partners and give necessary entries in the books
of the firm.

S§-30-Accountancy
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shar Limited i _
aTuplicaﬁ(;:l l;e;i Issued 20,000 €quity shares of ¥ 10 each payable as T 2.50 on
czll All the <k on allotment, % 2 on first call and the balance op second and final
. © shares were fully subscribed and paid exce_p_;,aﬁa_slmeholder_hﬂ__‘v'ins |

3|3'pl_“_3_‘:rI for 200 shares who could not pay for second and final call. Give journal
entrics from the above transactions. |

Fya1/OR
aftEr Tt g 2 100 =t 500 wue sivit @ fdta sk sifem win 7R T 30 wh st &
WA T TR W e = o mn 3w aiw # | 400 siw =iy @ 2 60 IR siw (gof wew) w
qA: Frifya frar ) ufign v 6wl 3 smavas wifzat St (4]
Parihar Limited forfeited 500 equity shares of ¥ 100 each for non payment of the
second and final call of ¥ 30 per share out of these, 400 shares were re-issued at

T 60 per share to Divyanshu as (fully paid). Give necessary journal entries in the
books of Parihar Limited. '

20) TRw Rz X T 100 3@ 20,000, 9% ForEi | 5% w8 w Frifta e it Remgar @ § -(4)
aragA W T 30

3TEeA W T 65

qaE R TUrTEn e g8, 36h temnrn giafizar i)

Rameshwar Limited issued 20,000, 9% debentures of ¥ 100 each at 5% discount
which is payable as follows :-

On application ¥ 30

On allotment T 65
All amount received as follows. Give journal entries.
g/ OR

3791 Ud FOTYR & 9 @13 9R FR forrg| 14]

Write any four difference between share and debenture.
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